— B X TIVA 2010/01/20

g | 1 X & 4 IEAT | HsRFHE | RN K7 | A—H A o2t
AL | DK 4 I3 & 60 100 60 25 70 m
1 L |4 5% AT nTF7vaTC 17. 1 21.4 17.1 3.6 10.0 65.6
2 1 |AF ¥ A|F—2EfA 17.1 21.4 4.3 10.0 52.8
3 1Bkl #oe TNV NTF7 v 2TC 4.3 14.3 8.6 1.8 15.0 42.2
4 L bk —pk 2|u /s 4.3 8.6 0.9 15.0 28.8
5 L /g s o)) T A v BT R 8.6 20. 0 28.6
5 L |fEE iz Zlwin tennis 8.6 20. 0 28.6
7 1 ede #EeE TIZ7V— 28.5 28.5
7 L |5 #E v 7 — 28.5 28.5
9 N PR HBFEER K 2 4.3 7.1 8.6 1.8 5.0 25.0
10 [ 1 |vakd 3 =TT T aTC 12.8 10.0 22.8
1|1 e s I|\TT AL =T TC 8.9 4.3 1.8 5.0 20.0
11 )1 |3 BT |V y=RXAFL—TTC 8.9 4.3 1.8 5.0 20.0
13 |1 |fER R NI NTF7 v 2TC 4.3 8.6 5.0 17.9
14 | 1 |FFH FsE F 7Y — 12.8 5.0 17.8
14 |1 |\afa Seth Novxzz2z2o10—7TC 12.8 5.0 17.8
16 | 1 |#N % Y7V — 14.3 0.9 15.2
17 |1 A BKRE [TV — 14.3 14.3
18 | L |k BR =TT T2 TC 12.8 12.8
19 |1 |8ME Kij IR TAT 4 4.3 4.3 3.6 12.2
20 [ 1 | =% #H NI T I vaTC 10.0 10.0
21 |1 [hy K& Flwin tennis 5.4 4.3 9.7
22 |1 ||l FET YTV v 7 Ehh 4.3 5.0 9.3
23 |1 |WF #BE A4 B TC 4.3 3.6 7.9
24 | 1 [BHE GnacE HF—LFrog 7.1 7.1
24 | 1 [P 2l A|F—LFrog 7.1 7.1
24 | 1[4 Ji— A7 =2 =% 7.1 7.1
24 | 1 R ANE = A A ) 7.1 7.1
24 | 1 Mg Femt V37V v 7 E il 7.1 7.1
24 |1 | B N7 ) — 7.1 7.1
30 | 1 [HREF 3R HI7 VT T 2aTC 5.4 5.4
30 |1 |&mAK =W Ao TS50 aTC 5.4 5.4
30 | 1 |&E S E| 7Y — 5.4 5.4
30 | 1 |#jili s A7 Y — 5.4 5.4
30 [ 1 PAJII BLE NTZVY — 5.4 5.4
30 | 1 [ EA Y7 ) — 5.4 5.4
30 1 [E% Bk BTV > 7 Erih 5.4 5.4
30 | 1 ([ FFk HAETAT 4 5.4 5.4
30 | 1 |%H Gk Y HLTC 5.4 5.4
30 1 [/hH JEYE ZIlwin  tennis 5.4 5.4
30 | 1 | fEE ATV v 7T = AW 5.4 5.4
30 1 fnH BHE Ulwin tennis 5.4 5.4
30 1 |&pE = Alwin  tennis 5.4 5.4
43 [ L [&gKR & A HIITC 5.3 5.3
43 | 1 [ R¥E = HELTC 5.3 5.3
45 | 1 K = RSB KR 5.0 5.0
46 | 1 [&f BTy NT T 2TC 4.3 4.3
46 | 1 [BE B & 5L[Y[win_ tennis 1.3 1.3
48 | 1 pide & H| 7V — 3.6 3.6
48 | 1 [iim # AR T B R 3.6 3.6
50 | 1 [P s A7) — 2.3 2.3
50 | 1 |RR &4 H7U— 2.3 2.3
50 | 1[N H v[F =2 T X 2.3 2.3
50 [ 1[N E H —[a[F=x~vx 2.3 2.3
50 | 1 |TRE it a7 ) — 2.3 2.3
50 | 1 |TR%E a7 ) — 2.3 2.3
56 | 1 [k e AHHankees 0.9 0.9
56 1 |4 =5 FHHankees 0.9 0.9
56 | 1 |HyEF M5 [TV — 0.9 0.9
56 | 1 [HiKE FIE 27— 0.9 0.9
56 | 1 |$fkmH e W7V — 0.9 0.9
56 | 1 [/NBF #RT LT C 0.9 0.9
56 | 1 |FFIH Fodr TIHILT C 0.9 0.9
56 | 1 |8 T RN 35 PIE BT 0.9 0.9
56 | 1 [SFH ¥ T Fn =3 PIE B 0.9 0.9
56 | 1 [RH S A|HRTAT 1 0.9 0.9
56 | 1 |WET Hat IR TAT 4 0.9 0.9
56 | 1 |BrJH (EIE NS 0.9 0.9
HAB T DA
5 HGILT S 14.3 17.1 7.1 7.1 45.6
PN YA R 8.6 8.6
BRIRCE DA PG N 8.6 8.6
ME KRR A/ ELTC 4.3 4.3
TN KER CAPN NS 4.3 4.3
A EER A | BIVE R 1.8 1.8 3.6
NI ~| [ AL AR 2.3 2.3
mH &K ~| [ AL AR 2.3 2.3
PR HE ~|EGILT S 1.8 1.8
S B AEGILT S 1.8 1.8
JIH A HET = A A7 — )L 0.9 0.9
sl E W T = A A7 —)L 0.9 0.9




